Chemistry 11 Unit 6 Chemical Reactions

| Word Equations

L8 Write the chemical equations and balance each of the following word equations.

a) Aluminum metal reacts with iron (ll) oxide powder to produce aluminum oxide solid and
iron metal.

b)  Aluminum sulphate solution and calcium hydroxide solution produce a precipitate of
aluminum hydroxide and solid calcium sulphate.

c) Ammonia gas (NH;) plus oxygen gas yields nitrogen monoxide gas plus water vapour,

d)  Calcium hydroxide solution and carbon dioxide gas yields solid calcium carbonate and
liquid water.

e) Aqueous iron (IIl) chloride and sodium carbonate solution yields aqueous sodium chloride
and a precipitate of iron (lll) carbonate.

f) Solid iron (l1l) oxide and carbon monoxide gas yields iron metal and carbon dioxide gas.

g) Magnesium carbonate solution plus aqueous hydrochloric acid (HCI) yields magnesium
chloride solution plus liquid water and carbon dioxide gas.

h) Silicon dioxide solid plus agueous hydrofluoric acid (HF) yields solid silicon tetrafluoride plus
liquid water.

i) Agqueous sodium hydroxide and carbon dioxide gas yields sodium carbonate solution and
liquid water.
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Balancing Eguations Worksheet

1) ~ NasPOs+_  KOH-=>_ NaOH+  KiPOs
2) _ MgF2+__ LieCOs=> __ MgCOs+__ LiF

3) P4 + 022>  P203

4) _ RbNOs+__ BeFz->__ Be(NOs3)2+  RbF
5) _ AgNO3+_  Cu=>__ Cu(NO3):2+_  Ag

6) | ~ CFa+__ Bre>__ CBra+_ F2

7) _ HCN+_ CuSOs—~> __ H2SO4+ __ Cu(CN)2
8) _ GaFs+__ Cs>_ CsF+__  Ga

9) _ BaS+_ Pthé _____BaF2+____ PtS

10) N2 + H2->  NHs

11) _ NaF+__ Bre=>_ NaBr+_  F2

12)  _ Pb(OH)2+__ HCI-> __ H0+__ PbClh

13)  _ ABrs+_ KaSOsa—~>  KBr+  Al(SO0:)s
14)  CHa+_ 02>  CO2+_  H20

1) _ NasPOs+_  CaClz—> _ NaCl+  Ca3(P0a)2
16) K+ Cz-> __ KCI

17) Al + HCI > Hz + AlClI3

18) N2 + F2>__ NF3

19) _ SO2+__ Li2Se>__ SSe2+ L0

200 NHz+_ H2S04->_ (NH4)2S0a4

© 2004 Cavalcade Publishing, All Rights Reserved For chemistry help, visit www.chemfiesta.com



